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QUESTION 1

After importing a Feature Archive into an application, what else must you do to include its features into your
application? 

A. Create a new deployment profile. 

B. Add a login URL. 

C. Add a task flow. 

D. Add one or more feature references. 

Correct Answer: D 

https://docs.oracle.com/middleware/maf210/mobile/develop-maf/maf-apps-get- started.htm#ADFMF22 

 

QUESTION 2

Which four properties are exposed through expression language in Oracle MAF? 

A. Device OS 

B. Device has camera 

C. Device network status 

D. Device battery capacity 

E. Device screen diagonal size 

F. Device barcode resolution 

Correct Answer: ABCD 

 

QUESTION 3

Which behavior results from this code inside anamx:listItemcomponent? 

 

A. When someone taps an item in the list, the item is automatically approved. 

B. When someone taps and holdsa list item, a fixed value is set in a variable that will be available in another page in the
same task flow. 

C. An exception occurs because this is not a valid use of pageFlowScope variables. 

D. When someone taps and holds a list item, the value of the "approved" variable is evaluated and, if it is "yes", you
perform a specific action. 
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Correct Answer: D 

 

QUESTION 4

You are asked to build an adaptive design into an MAF application. The requirement is to show amultipage wizard for an
MAF application functionality when the application runs on a smartphone and a single page layout for the same
functionality when the application runs on a tablet. 

Which two options allow you to implement this use case? 

A. A Feature can have multiple contents (AMX pages, AMX Task Flow, and so on). A content constraint can be defined
on the first content to hide when the application runs on a smartphone and to show when it runs on a tablet. This way,
thefirst content configured for a Feature holds the single page layout, whereas the second (with no constraints defined)
has the multipage wizard function. 

B. A Feature LifecycleListener class can be created and configured to load AMX content upon application start. In this
case, Java, using the AdfmfContainerUtilities framework helper class, determines the type of device to be smartphone
tablet and switches the content. 

C. Two MAF Features can be created, one for the single page view and the other for the multipage wizard. Constraints
defined on the feature configuration conditionally switch between the two options. 

D. Selecting the Enable Adaptive Design check box in themaf-application.xmlfile visual editor allows you to configure
constraints on the application level that, upon application start, tell the framework which MAF Features to load when the
application is started on a smartphone and which Features to load when the application is started on a tablet. 

Correct Answer: BD 

 

QUESTION 5

The EL expression#{deviceScope.hardware.networkStatus}returns a dynamic value based on the mobile 

device\\'s current network connectivity. 

Which is an invalid use of the network status? 

A. If the value returned is 3g, warn the user that downloading data may take significant time. 

B. Disable entry to a feature if it requires network access and the current network status isnone. 

C. Stop the user from invoking the phone device service, which relies on a 2G, 3G, or 4G connection if the network
status returnswifi. 

D. Call an external web service to refresh data if a connection is available; otherwise, use a local cached copy of the
data. 

Correct Answer: B 
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